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n, 8.5440 0.8544 7.2111 1.4422 6.0828 1.8248 5.2915 2.1166 5 2.5
N3 7.3000 0.7300 5.2000 1.0400 3.7000 1.1100 2.8000 1.1200 2.5 1.25
Ng 6.2371 0.6237 3.7498 0.7500 2.2506 0.6752 1.4816 0.5926 1.25 0.625
Ns 5.3290 0.5329 2.7040 0.5408 1.3690 0.4107 0.7840 0.3136 0.625 0.3125
Ng 4.5531 0.4553 1.9499 0.3900 0.8327 0.2498 0.4149 0.1660 0.3125 0.1563
ny 3.8902 0.3890 1.4061 0.2812 0.5065 0.1520 0.2195 0.0878 0.1563 0.0782
ng 3.3238 0.3324 1.0139 0.2028 0.3081 0.0924 0.1162 0.0465 0.0781 0.0391
Ng 2.8398 0.2840 0.7312 0.1462 0.1874 0.0562 0.0615 0.0246 0.0391 0.0196
N1o 2.4263 0.2426 0.5272 0.1054 0.1140 0.0342 0.0325 0.0130 0.0195 0.0098
AR 68.6812 6.8681 35.8564 7.1713 25.5281 7.6584 21.2382 8.4953 20.0000 10.0000
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@R BRI @R | KA | BO0E | BRERNERE
r=0.9 0.85 0.73 5.82 61.79

r=0.8 0.72 0.52 13.9 28.67

r=0.7 0.61 0.37 25.28 17.86

r=0.6 0.53 0.28 40.89 12.74

r=0.5 0.50 0.25 60.00 10.00 10 (B&FEE)

r=0.4 0.53 0.28 79.11 8.50

r=0.3 0.61 0.37 94.72 7.66

r=0.2 0.72 0.52 106.1 7.17

r=0.1 0.85 0.73 114.18 6.87

r SN = (RFBEN 2/3 (%)

B0 B rEEEE R = A g -
2. DLr=05 fu5yFli - =03 B r=07 » JefRIk 120 FE(E =iy Mo Ity - Fe B -

RV FEEAINGE RSP A AR ZBREE « IR ~ JosEliRgR&

HARR BEREE | EMELE | 2 TRARAE PRLR AR RV SR E
r=0.9 0.91 0.82 6.34 95.24

r=0.8 0.82 0.68 1404 | 4559

r=0.7 0.76 0.58 232 29.33

r=0.6 0.72 0.52 3369 | 215

r=0.5 0.71 0.5 45 17.07 ;(1_;%) X 10= 17.071067
r=0.4 0.72 0.52 5631 | 14.33

r=0.3 0.76 0.58 66.8 12.56881

r=0.2 0.82 0.68 7596 | 11.37

r=0.1 0.91 0.82 83.66 | 10.56

r EES/ NF 10 (BIFER)
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whieR | BRI | mEth | s | BREE IRLRAE RV S {E
r=0.9 0.95 0.91 5.21 195.3
r=0.8 0.92 0.84 10.89 95.82
r=0.7 0.89 0.79 17 95.82
r=0.6 0.87 0.76 23.41 95.82
r=0.5 0.87 0.75 30 37.32
r=0.4 0.87 0.76 36.59 31.16
r=0.3 0.89 0.79 43 26.94
r=0.2 0.92 0.84 49.11 23.92
r=0.1 0.95 0.91 54.79 21.61
r 55 /N 20 (JFiERAY 2 %)
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Rt BEANMEHYIEZ B R — it R

[EhiZ 0 (NA) cos 6 EnfgER
Ezﬁﬂé 60° % \/a% — 3R(an - R)
EJ5IE 90° 0 Jaz — 2R(a, — R)

7 2 oo 1-—- \/§ 5— \/g
EHEFR 108 Z \/arzl —2R(a, — R) 7
IENER 120° _% vaz — R(a, —R)
1F nEE 0 cos @ Jaz — 2R(a, — R)(1 + cos 6)

#/\ BEEANMENIE=AIPER B 0.1 £ 0.5 2 FAT 10 EHEEEE (EnT— g2

JE# R=0.1 R=0.2 R=0.3 R=0.4 R=0.5

Ny 10 10 10 10 10

n, 9.85(-0.15) 9.70(-0.30) 9.55(-0.45) 9.41(-0.59) 9.26(-0.74)
Ns 9.70(-0.15) 9.40(-0.30) 9.11(-0.45) 8.81(-0.59) 8.52(-0.74)
Na 9.55(-0.15) 9.10(-0.30) 8.66(-0.45) 8.22(-0.59) 7.78(-0.74)
Ns 9.40(-0.15) 8.81(-0.30) 8.22(-0.45) 7.63(-0.59) 7.05(-0.74)
Ne 9.25(-0.15) 8.51(-0.30) 7.77(-0.45) 7.04(-0.59) 6.31(-0.74)
Ny 9.10(-0.15) 8.21(-0.30) 7.32(-0.45) 6.45(-0.59) 5.58(-0.73)
Ne 8.95(-0.15) 7.91(-0.30) 6.88(-0.45) 5.86(-0.59) 4.85(-0.73)
No 8.80(-0.15) 7.61(-0.30) 6.43(-0.44) 5.27(-0.59) 4.12(-0.73)
N0 8.65(-0.15) 7.32(-0.30) 5.99(-0.44) 4.68(-0.59) 3.40(-0.72)
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(IF4RAER) (IR4RAE ) (IRRER) (IF4RAER)
PR A (E 4 6.6666 10 4914.4721 20
R=0.1 75 (7.5) 105 (10.5) 156 (15.6) 217 (21.7)
R=02 45 (9) 55 (11) 83 (16.6) 117 (23.4)
R=0.3 34 (10.2) 38 (11.4) 59 (17.7) 84 (25.2)
R=04 28 (11.2) 30 (12) 47 (18.8) 67 (26.8)
R=05 26 (13) 25 (12.5) 40 (20) 57 (28.5)
R=0.6 23 (13.8) 21 (12.6) 35 (21) 51 (30.6)
R=07 22 (15.4) 19 (13.3) 31 (21.7) 46 (32.2)
R=0.8 21 (16.8) 17 (1713.6) 29 (23.2) 42 (33.6)
R=0.9 21 (18.9) 15 (13.5) 27 (24.3) 39 (35.1)
R=1 20 (20) 14 (14) 25 (25) 37 (37)
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